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M BES
M S22 EHG
& Faze
SA - ZE-B(EA) - NRAY - B S il &t o il
A& XAl 130,000 * 2CH 260
FAXY BE=2(XY, 58, Q)
2,100,000& = 14 2,100
dIIEA =2 180,000& * 204 360
- HEESTYZ 1,450
B8z 1,050,000& * 14 1,050
BIMNERE S 100,000& * 23| 200
IIEAN =2 70,000& = 104 70
A& XAl 130,000 * 1CH 130
— SASMYI BEF=H IHE 1,515
S3MERES  100,000& = 104 = 23l 200
RSP 130,000& * 1CH 130
SEE (MY, %, SEW)
1,005,000 * 14| 1,005
FIIEA =2 180,000& * 1CH 180
— MY AENBT(IEEY) 2,715
BIMERES 45,0003 *3H 135
NE=PY| 130,000& * 3CH 390
FEE (MY, B8, SEW)
700,000 »3CH 2,100
dIIEA =2 30,0003 =30H 90
— MYIIDBYD ZX OBK PEI (M
Y ZEHEH) 300,000& = 14 300
O &2l 44,780
- EaXg fFU & |Xd
1,050,000&  2CH  12& 25,200
- MHEsSE ¥ RFU £ FXUI(5E)
840,000& = 104 » 12& 10,080
— Moz dR=H 0EX RXH S
500,000& =« 1CH 500
— MY AENB(IEEY)
9,000, 000& 9,000
=Xz2el 30,560 30,560
TEAMY = 30,560 30,560
YR F4A 30,560 30,560
201 Lt 2| 560 560
01 At 22l 560 560
O MBI FA ZSHI(ASY, S &
Ab) 8,000&  70H 560
401 Al EHI L 2O HI 30,000 30,000
01 A& Hl 30,000 30,000
O A& H SHIJI A 10,000, 000& *23| 20,000
O A&® HG2 MA AMZ 10,000,000 *13] 10,000
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BH: NYES
CHOl: A KO R CEREY
= - _ L=
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
MEES 9,040 9,040 0
&= 2 K| CH 24 9,040 9,040 0
== 9,040 9,040 0
201 Let24d] 6,940 6,940 0
01 At 2teltl 6,240 6,240 0
O L=SH 2RI 2l
8,000& * 6% = 130 6,240
02 8323l 700 700 0
O M=dsxed sd=2RI| |2
700,000& * 1CH 700
401 AIEBIZ 201 8I 2,100 2,100 0
01 A& HI 2,100 2,100 0
O MEAFX 2HII & sRMS =H S
MENYES 2,100,000& 2,100
NSEWLE(HES) 53,640 50,000 3,640
LAARFUSAAMN (HES) 53,640 50,000 3,640
SEYUIZAAMS(HES) 53,640 50,000 3,640
201 L2l 3,640 0 3,640
01 At 2t 2l 3,640 0 3,640
O ALHRFA AR 22|l 3,640
— SAEX 7Y 24,000 258 A 600
— HEgH EH 2 320,000& *24 640
— Sl 8,000& x3H 100! 2,400
401 Al& I 28I 50,000 50,000 0
01 A& HI 49,460 49,460 0
O ARE2FOEAAY XA 49,460,000 49,460
03 AIE 2 0H bl 540 540 0
O 2AR2F2EHAAY N
50,000,000& x1.08% 540
HY2AHH(RES) 209,004 189,804 19,200
Jl23 4l 209,004 189,804 19,200
Jl23Hl 209,004 189,804 19,200
201 £B-2dH| 88,024 88,024 0
01 At 22l 55,024 55,024 0
O e+l 39,472,000& 39,472
O =&l 8,000& = 27+ 6 » 123 15,552
02 3323l 33,000 33,000 0
O 3322 2 HMA 33,000, 000& 33,000
202 o4dl 105,500 86,300 19,200




SN BES
HE: HWRARY (RES)
@2 Jl2&tl (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 2LHHI 21,500 21,500 0
O 2oyl 21,500,000 21,500
02 S HN Y| 84,000 64,800 19,200
O EHAHYI 250,000 * 28¥ = 128 84,000
203 &R =&H| 12,480 12,480 0
01 J|22HLR=AH| 6,600 6,600 0
O JA2IHR=AY| 550,000& x1H = 12& 6,600
02 HRJAH R =&Y 1,080 1,080 0
O &8 40,000& x27H 1,080
04 EANSHLRF=AH| 4,800 4,800 0
O BEXN2E Y2 =X (302! 015t)
400,000& x12& 4,800
405 XHoHF SHI 3,000 3,000 0
01 A&t = S F S HI 3,000 3,000 0
O 2 KatF S| 3,000,000& 3,000




